1. Division
These questions you should be able to do in your head. Write the questions and answers into your books:
	1.) 10 ( 2 =
2.) 21 ( 7 =
3.) 49 ( 7 =
4.) 30 ( 5 =

5.) 90 ( 5 = 

6.) 345 ( 10 =

7.) 66 ( 3 =

8.) 32 ( 8 =

9.) 24 ( 6 =

10.) 40 ( 8 =
	11.) 80 ( 8 =

12.) 64 ( 4 =

13.) 66 ( 6 =

14.) 108 ( 9 =

15.) 56 ( 7 =

16.) 72 ( 8 =

17.) 48 ( 6 =

18.) 121 ( 11 =

19.) 144 ( 12 =

20.) 123 ( 1 =  (easy!)


2. Easy conversions to divide
It is impossible to do 2.4 ( 8 but we can convert it to (24 ( 8) ( 10. Because we multiplied the 24 by 10 we have to divide by 10 at the end of the calculation.

Here is another example: 3.6 ( 6 = (36 ( 6) ( 10 = 0.6

Try these:
	1.) 1.2 ( 4 =
2.) 2.4 ( 4 =
3.) 1.8 ( 9 =
4.) 2.2 ( 11 = 
5.) 4.5 ( 5 =

	6.) 3.5 ( 5 =
7.) 2.6 ( 13 =
8.) 5.6 ( 8 =
9.) 7.2 ( 8 =
10.) 3.2 ( 8 =



3. Slightly harder conversions to divide
Copy these examples:

0.36 ( 6 = (36 ( 6) ( 100 = 0.06
32 ( 0.8 = (32 ( 8) × 10 = 40
24 ( 0.4 = (24 ( 4) × 10 = 60

Try these
	1.) 12 ( 0.3 =

2.) 12 ( 0.2 =

3.) 0.12 ( 4 =

4.) 0.16 ( 8 =

5.) 81 ( 0.9 = 

6.) 15 ( 0.3 =

7.) 18 ( 0.6 =

8.) 0.32 ( 8 =

9.) 0.56 ( 8 =

10.) 55 ( 0.5 =
	11.) 35 ( 0.5 =

12.) 72 ( 0.8 =

13.) 74 ( 0.8 =

14.) 0.64 ( 8 =

15.) 0.39 ( 13 =

16.) 0.49 ( 7 =

17.) 0.68 ( 2 =

18.) 44 ( 0.2 =

19.) 0.44 ( 4  =

20.) 27 ( 0.9 =  


4. The Challenge
Each of these questions are different from what you have done before. Can you do them?

	1.) 0.124 ( 2 =

2.) 0.4848 ( 4 =

3.) 0.8 ( 0.2 =

4.) 0.9 ( 0.3 =

5.) 0.12 ( 0.03 = 


	6.) 0.32 ( 0.08 =

7.) 0.56 ( 0.08 =

8.) 0.35 ( 0.05 =

9.) 0.12 ( 0.005 =

10.) 0.12 ( 0.0005 =

 


